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“ Sepal.Length Sepal.Width Petal.Length Petal.Width Species
‘/ .= — “w ——— W~ 1 5.1 3.5 1.4 0.2 setosa
3 ':"' O) J —\7 >( 501@1$3_ j 0)'”_/1 Z)\ b t 2 49 3.0 1.4 0.2 setosa
jj\o 0) E é t [l] fé‘: ]J L/ 7‘ — 9 3 4.7 3.2 1.3 0.2 setosa
EE ” IE' L‘ 4 46 3.1 1.5 0.2 setosa
v ] 5017, 57)"_” 5 5.0 3.6 1.4 0.2 setosa
6 5.4 3.9 1.7 0.4 setosa
7 4.6 3.4 1.4 0.3 setosa
‘/ i: (SpeC|eS) 75“)%?— E@g%& 8 5.0 3.4 1.5 0.2 setosa
- - 9 4.4 2.9 1.4 0.2 setosa
\/%— O)'f—m ci % E/\] -ﬂéﬂ;& 10 4.9 3.1 1.5 0.1 setosa
11 5.4 3.7 1.5 0.2 setosa
12 4.8 3.4 1.6 0.2 setosa
13 4.8 3.0 1.4 0.1 setosa
V-L ew(-L rls) 14 4.3 3.0 1.1 0.1 setosa
15 5.8 4.0 1.2 0.2 setosa
16 5.7 4.4 1.5 0.4 setosa
17 5.4 3.9 1.3 0.4 setosa
18 5.1 3.5 1.4 0.3 setosa
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Petal.Length’ x##H, Peta

o X & [O])F

A{rd
library(ggplot2)
ggplot(iris, aes(x = Petal.Length, y = Petal.Width))+

geom_point(size = 1.2)+

geom_smooth(method="1m",se=F )+

theme_classic()+

theme(axis.title = element_text(size = 18, face = "bold"),
axis.text = element_text(size = 15, color =
strip.background = element_blank(),
aspect.ratio = 1

)

"black™),
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Qﬁ'ﬁﬁ/:f 7—-}|/ Im(formula = Petal.Width ~ Petal.Length, data = iris)
y = Bo + b1x
OROIM () B % 5 > 1o 23
ImCy ~ x, data = df) g
/ AN
T—% 7L —LDEH] 00
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ETIVDINTA—T ZHETET S

m <- Lm(Petal.Width ~ Petal.Length, data = 1iris)

m 25
Zh%ZRStudiod®ConsolelcfTo & | 20
Call: §1.5
Im(formula = Petal.Width ~ Petal.Length, data = iris) 3
©
& 1.0
Coefficients:
(Intercept) Petal.Length
-0.3631 0.4158 0.5

0.0

Petal.Length
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vVERERZER T HI
« XETIL iy =g+ Pyx m < Im(Petal.Width ~ Petal.length, data = iris)
*YIRETIL: y=p, m0 <- lm(Sepal.Width ~ 1, data = iris)
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HORICH T DIREIRE © FIRZE

ocar/Vwy 4 — I MAnova() B
VE—I|H  SBAZEEMNZ xTETILDfittedA T 7 b
VEZS|IH REMRETE CHAFEZIETE (test = “F”)

library(car) #/Xv o — I % & 5 gilclibrary() B8 # T 5 & A &

Anova(m, test = "F")

Anova Table (Type II tests) -Anova()ﬁﬁiﬁd)v_‘“77r}bl\65t947’ll A

=M R 2R & >
nﬁ@ﬁﬁﬁ?\m?%’ Response: Petal .Width
(..\t?{&’) Iz Sum Sq Df F value Pr(>F)
EEFTM petal.lLength 80.26] 1 1882.5 < 2.2e-16 ***

L DBEETES] Pesiduals 6.31]148

Signif. codes: @ ‘***’ @.001 ‘**’ 0.01 ‘*’ 0.05 *.” 0.1 ¢’ 1
20



ETILDREFRE

summary(m)
Call: .
Im(formula = Petal.Width ~ Petal.Length, data = iris) '
Residuals: 50
Min 1Q  Median 3Q Max
-0.56515 -0.12358 -0.01898 ©0.13288 0.64272
15
Coefficients: 3
Estimate Std. Error t value Pr(>Itl) £
(Intercept) -0.363076 ©.039762 -9.131 4.7e-16 *** 10
Petal.Length ©.415755 ©.009582 43.387 < 2e-16 ***
o 0.5
Signif. codes: @ ‘***’ @9.001 ‘**’ 9.01 ‘*> .05 ‘.’ 0.1 ¢ ’ 1
Residual standard error: 0.2065 on 148 degrees of freedom 0.0
[ Multiple R-squared: 0.9271,| Adjusted R-squared: 0.9266 2

F-statistic: 1882 on 1 and 148 DF, p-value: < 2.2e-16

ETILORERE YR ETILEKR LT, BEFATNRSULICES

4
Petal.Length
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®car/\v
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VS

HORICHE T DIRERE  FIRE

—3I M Anova() %L
|40 SRR N A fexET )L DOfittedA TV 7 b~
|2 IRERETE CHBFEZIEE (test = “F”)

library(car) #/)Xy o — I Z{E S Hilclibrary(Q R 8 T & & 1A &

Anova(m, test = "F")

Anova Table (Type II tests)

Response: Petal .Width

Sum Sq |Df F value Pr(>F)
Petal.Length 80.26 1 1882.5 < 2.2e-16 ***
Residuals 6.31 148

Signif. codes: @ ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ¢’ 1
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BEIRIC 51 3 RBURTE | FRTE

library(car) #/Xv 75— I % fE 5 g IClibrary(Q B # T 5 # A

Anova(m, test = "F")

Anova Table (Type II tests)

Response: Petal .Width

Sum Sq Df F value Pr(>F)
Petal.Length 80.26 1 1882.5 < 2.2e-16 ***
Residuals 6.31 148

Signif. codes: @ ‘***’ @.001 ‘**’ 90.01 ‘*’ 0.05 ‘.’ 0.1 ¢’ 1

® FIREDIER, HEAZ#Petal.LengthDfEIC & > TIHEZ#HPetal. WidthdD
ENEERICZ{LUE (A1, 148) = 1882.5, p<.001)

23
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EO|RothziRecETT )L TFKIRE
o= [0|)F T (Multiple regression)

vV SBAZ MO B DERE L TH S HE DIREL)F
v' Sepal WidthDfE(&Sepal.Length & Petal.Length TZE 1 5 H ?

iris %% 4.5 .
ggplot(aes(x = Sepal.Length, y = Sepal.Width, col = Petal.Length))+ .
geom_point()+ °
scale_color_viridis_c()+ 4.0 .
theme_classic()+ ° o
theme(axis.title = element_text(size = 18, face = "bold"), i; o ..' e Petal.Length
axis.text = element_text(size = 15, color = "black"), © 3.51 . o ::: .’ . 5
aspect.ratio = 1 E; oo 5
) " e oo [ ] [ J [ X J °
(_B o oo ° 4
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@ * cee sesse e 2
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& [o])m i & #R
& [0])F 7 WK ITZ
mo ;—_1m(Sepal.Width ~ Sepal.Length*Petal.Length, data = iris)
summary(me6)

Call:
Im(formula = Sepal.Width ~ Sepal.Length * Petal.Length, data = iris)

Residuals:
Min 1Q  Median 3Q Max
-0.86900 -0.19846 0.00743 0.20704 ©0.72871

Coefficients:

Estimate Std. Error t value Pr(Gltl)
(Intercept) 1.51011 0.64336 2.347 0.020257 *
Sepal.Length 0.46940 0.12954 3.624 0.000400 ***
Petal.Length -0.42907 0.11832 -3.626 0.000397 ***

Sepal.Length:Petal.Length ©.01795 0.02186 0.821 0.413063

-- —
l_

/

IV TxIR

y = 1.51 4+ 0.469 = Sepal. Length — 0.429 * Petal. Length) TX1R DA

+0.018 * Sepal. Length = Petal. Length

REEAHDIA
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so|Eo TR T )L KR
ORZET Il Zcar:Anova(\BEEICE L CTRRICEENTE S

Anova(mo)
4.5 )
Anova Table (Type II tests)
, : 4.0/ o
Response: Sepal .Width .
Sum Sq Df F value Pr(>F) _: . e etalLongth
Sepal.Length 7.7237 1 73.6233 1.276e-14 *** B535{  eee s ,, 6
Petal.Length 12.5284 1 119.4233 < 2.2e-16 *** S R ;
Sepal.Length:Petal.Length 0.0707 1 0.6738  0.4131 r o oo RIS 4
Residuals 15.3165 146 Q3077 oo 0Ll )
- w ° :'o o..:o. ‘ 1
Signif. codes: @ “***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 .’ 0.1 ¢ ’ 1 2.5 co ees
v’ SepallLength® EZRNEE (A1, 146) = 73.623, p<.001) 2.0/ .
v Petal.Length® EZIERNER (A1, 146) = 119.423, p<.001) 5 6 7 8
v TEHERIZIEEE (A1, 146) = 0.674, p= 41) Sepal.Length

27
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DTN ZERCETILTEZS

®iris Sepal.LengthDF1I(E % & LL
v —EB RS INE B EHE O e T
v EBAZ ¥ Species|SBERNZT
- 37K¥E : setosa, versicolor, virginica

I I 1
setosa versicolor virginica 29
Species



P RIZET IV TEZ S

osummary() B T/NZ X — 5 DHETEE = SR
BNZERICL D TFAECEEZ ESBMATHRIRT S ?

{r}
summary(mzb
6_
Call:
Im(formula = Sepal.Length ~ Species, data = iris)
Residuals:
Min 1Q Median 3Q Max 4-
-1.6880 -0.3285 -0.0060 ©.3120 1.3120 §
=
Coefficients:
tﬂH_F%Std. Error t value Pr(>1tl)
(Intercept) 0.0728 68.762 < 2e-16 ***
Speciesversicolor | 0.9300 \ 0.1030 9.033 8.77e-16 *** 2-
Spec1esv1rgln1ca 1.5820 0.1030 15.366 < 2e-16 ***
EE
Signif. codes: © ‘***’ 9.001 ‘**’ 0.01 ‘*> 0.05 ‘.’ 0.1 ¢’ 1
Residual standard error: ©0.5148 on 147 degrees of freedom 0-
Multiple R-squared: 0.6187, Adjusted R-squared: 0.6135 ! | :
F-statistic: 119.3 on 2 and 147 DF, p-value: < 2.2e-16 selosa versicolor virginica 30

Species
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y= 5.01+0.93 « dversicolor + 1.58 * dvirginica

0 I —EXZRAWTEKEDFAEZ R

vd

versicolor
« BAED versicolori s 1, FNMUNES0 )
virginica

« EAED VIrginicaim 51, #FNAE50
vEAEN setosaiz s, E55045 I —ZHE0

vd

XEHEWRABIOKEDFAEINIFICES
virisdSpeciesTl&, setosahd —&FE L)
vVsetosazBELEUT, KESEICESEDLEN 2RI sebsa vers or vioinca




SRBAZMN BN DIZE Dsummary() -

y = + 0.93 * dyersicotor

0y = —ZTHICL-T,

* dvirginica

+ 0930+ 1.58*x0 = 5.01
Specieshiversicolord & &= -
y=501+093+1+1.58*0=>594
Speciesh’ DE&EE:
y=501+093+«0+1.58%*1=6.59

Coefficients:

(Intercept) 5.0060
Speciesversicolor 0.9300
Speciesvirginica 1.5820

Estimate Std. Error t value Pr(GIltl)

0.0728 68.762 < 2e-16 ***
0.1030 9.033 8.77e-16 ***
0.1030 15.366 < 2e-16 ***

7]

AR HNENE-MDZED FAELHATRIETES
SpecieshH’ DEE:
y =

32



SRR O BENE R DIZE Dsummary() &
y = + 0.93 * dversicolor * dvirginica

esummary() N zsA < Y
VET, UIEICEYTIKEEEZ D  BHANABLKE

VIRE L, YR DKENSHIDKEICENLLIcEEDTFAEDENLE

. YIF DIKEENL . 5.01

o JKEMN M SversicoloricZ k95 &, 5.01+0.93

o 7KZE mns IcZ{bt95&, 5.01+1.68
Coefficients:

Estimate Std. Error t value Pr(GIltl)
(Intercept) 5.0060 0.0728 068.762 < 2e-1b ***
Speciesversicolor 0.9300 0.1030 9.033 8.77e-16 ***
Speciesvirginica 1.5820 0.1030 15.366 < Z2e-16 ***

33
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oM (B & car:Anova()Ba#¥ T, Rt ER—DINTE
v Im()BE# cfittedA 7V 7 M &EERL
v car/\y 4 —I ®Anova() BEEIC A

m2 <- Lm(Sepal.Length ~ Species, data = iris)
Anova(m2, test = "Fr)

Anova Table (Type II tests)

Response: Sepal.lLength

Sum Sq Df F value Pr(>F)
Species 63.212 2 119.26 < 2.2e-16 ***
Residuals 38.956 147

Signif. codes: 0 ‘***’ @.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ¢’ 1
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®irisDsetosa & virginica® Sepal.LengthD F3I{E % LEER
VIZERZ2/KEDSMERETE = tREDHCE

Species



EZMRIZET IV TEZ
= SR ETILTEZLS
. t*ﬁk_ K127 A
FbraeyCLidyverse) . tldyverse/\‘/'T 3 % i drIA H
iris2 <- iris %% - tidyverse®Dfilter(\ B & %>% (/N1 TiEETF) ZfE>T, irish5
filter(Species != "versicolor™ Spemesh\versmolor??&b\%ODTLLT%TIHI':H L Tiris2& W57 —4%7

I AR
m3 <- lm(Sepal.Length ~ Species, data = iris2) lm()@%ﬁ?‘ﬁiﬁé%?\}b%%ﬁ
summar'y(m3)| . EFILOEH

Call:
Im(formula = Sepal.Length ~ Species, data = iris2)

Residuals:
Min 1Q Median 3Q Max
-1.6880 -0.2880 -0.0060 ©.2985 1.3120

Coefficients:

Estimate Std. Error t value Pr(>1tl)
(Intercept) 5.0060 0.0727 ©68.85 <2e-16 ***
Speciesvirginica 1.5820 0.1028 15.39 <2e-16 ***

Signif. codes: @ ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 * ’ 1

Residual standard error: 0.5141 on 98 degrees of freedom
Multiple R-squared: 0.7072, Adjusted R-squared: 0.7042

37
F-statistic: 236.7 on 1 and 98 DF, p-value: < 2.2e-16
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®irisDsetosa & virginica® Sepal.LengthDF1IE 7% LLER
VIERZ2KEDSMEREE = tREDMNE

v Anova()FE# CTF1RE
« HLETIRIEET )L DOHHEMA .-

s IETIF %<, FEINRERE

v rpd
Anova(m3)

Species

. setosa
- virginica

Mean

Anova Table (Type II tests)

Response: Sepal.lLength

Sum Sq Df F value Pr(>F)
Species 62.568 1 236.74 < 2.2e-16 ***
Residuals 25.901 98

Signif. codes: @ ‘***’ @.001 ‘**’ 0.01 ‘*’ 0.05 ‘. 0.1 ¢’ 1 S : virginica 38
Species
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oothGrowth : EJLEwY K DEgD-

®TE/LEY KNGOEEDT—%4
vien : §EORSE
vsupp: E¥=Z>C (VC) , ALY I a21—RX (0J) D2K%EE
vdose : 0.5, 1.0, 2.0 mgdD37k*#E

|\

olenDFHE% suppd & 'dose TLEE

supp

Mean

dose

© 00 N O U1 A W N M=

e i
N = O

-
N

len
4.2
11.5
7.3
5.8
6.4
10.0
11.2
11.2
5.2
7.0
16.5
16.5

LN

supp
VC

VC
VC
VC
VC
VC
VC
VC
VC
VC
VC
VC

\/IC

dose
0.5
0.5
0.5
0.5
0.5
0.5
0.5
0.5
0.5
0.5
1.0
1.0

1N
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“ERORIEET IV | ENR+KRAER
®lenDFHEZ supp & & Udose THER

Vednr o leediEiei 2o » ToothGrowth®Ddose% XFHNRICEHL T
mutate(dose_c = as.character(dose)) dose c& LT —4 T L—AL"TG chr & /ERk
m4 <= lmClen ~ supp * dose_c, data = TG_chr) » TG_chrzff> i ET )L ZIm() TRl

m4 <- Llm(len ~ supp + dose_c + supp:dose_c, data = TG_chr)

v —_EROEMREXEER

sumnary ) - EFILOEY
o FMREXREEADEE -
v len ~ supp SUPPDERR
v len ~ supp + dose supp & doseDERNE
v len ~ supp:dose supp & dose DR E EMH

v Ien~supp+dose+supp:dose} SUppDEXME, doseDEMRE, REVEFR
v len ~ supp*dose



2K

summary(m4)
Call:
Im(formula = len ~ supp + dose_c +
Residuals:
Min 1Q Median 3Q Max
-8.20 -2.72 -0.27 2.65 8.27
Coefficients:
Estimate Std. Error
(Intercept) 13.230 1.148
suppVC -5.250 1.624
dose_cl 9.470 1.624
dose_c2 12.830 1.624
suppVC:dose_cl -0.680 2.297
suppVC:dose_c2 5.330 2.297

Signif. codes: @ “***’ 0.001 ‘**’
Residual standard error:
Multiple R-squared: 0.7937,
F-statistic: 41.56 on 5 and 54 DF,

DRI E

supp:dose_c, data = TG_chr)

t value Pr(GItl)
11.521 3.60e-16 ***
-3.233 0.00209 **

5.831 3.18e-07 ***
7.900 1.43e-10Q ***
-0.296 0.76831
2.321 0.02411 *

0.01 ‘*> 0.05 . 0.1 * ’ 1

3.631 on 54 degrees of freedom
Adjusted R-squared:

0.7746

p-value: < 2.2e-16

7L ER+ R EERE

y =13.23 —5.25*d

S

SUPPyc
+9.47 * dgpse
+12.83 * dgose,
— 0.68 * dsuppVC * dgoseq

+ 5.33 dsuPPVC * ddosez

oy : I EZEHlendDFHlE
ot DKHE : supp=0JHDdose=0.5
O /KMEZRINT H1HDY = —ZEH

« suppyc: SUppHOJ->VCD & =1
« dose;: doseh0.5->TD & =T
« dose,: doseh0.5->2M & =1



ToothGrowth : £JLE

elenDFE% supp$ & 'dose TLHER
vIm() TE> =7 )L %Z Anova () BT IR A
vV SUppDEMR, doseDERR, supp:doseDRAER

\&
-
S
B
S
i
Ok
Nl
|
&

AnoQatm4b

Anova Table (Type II tests) 20-

Response: len = supp

Sum Sq Df F value Pr(>F) =

supp 205.35 1 15.572 0.0002312 *** 10-

dose_c 2426.43 2 92.000 < 2.2e-16 ***

supp:dose_c 108.32 2 4.107 0.0218603 *

Residuals 712.11 54

—_——— 0_

Signif. codes: @ ‘***’ @.001 ‘**’ 0.01 ‘*> 0.05 ‘.’ 0.1 ¢’ 1 05 1 2

dose
43
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» iris®MSepal. Width@ﬂ_ i&, Species& Sepal.Lengthic &> TZEHLBH?
v Species : ZH (37k#) , Sepallength : ENZEH (X E)
VB &, SpeC|eS<_ & LE/“J'HBLJTCIEIUF‘T‘?IE%%
4.51
iris %>%
ggplot(aes(x = Sepal.Length, y = Sepal.Width, col = Species))+ 4.0
geom_point()+
geom_smooth(method = "1Im", se=F)+ -
theme_classic(O)+ 35 3.51 Species
theme(axis.title = element_text(size = 18, face = "bold"), § ¢ 7 setosa
axis.text = element_text(size = 15, color = "black"), —_ e oe oce e o versicolor
aspect.ratio = 1 83_0 sot® oo oo o= virginica
) 3 .
2.5
2.01 .
5 6 7 8

Sepal.Length



H BT & 1R

m5 <- 1lm(Sepal.Width ~ Sepal.Length|'Species, data = iris)
summary(m5)

\\\

Call:
Im(formula = Sepal.Width ~ Sepal.Length * Species, data = iris)

Residuals:
Min 1Q  Median 3Q Max
-0.72394 -0.16327 -0.00289 0.16457 ©0.60954

Coefficients:

Estimate Std. Error t value Pr(>1tl)
(Intercept) -0.5694 0.5539 -1.028 0.305622
Sepal.lLength Q.,7985 0.1104 7.235 2.55e-11 ***
Speciesversicolor 1.4416 0.7130 2.022 0.045056 *
Speciesvirginica 2.0157 0.68061 2.938 0.003848 **

Sepal .Length:Speciesversicolor -0.4788 0.1337 -3.582 0.000465 ***
Sepal.Length:Speciesvirginica -0.5666 0.1262 -4.490 1.45e-05 ***

ETIILTKRIRT B

—0.57

+0.80 * x

+1.44 * dorsicolor
+2.02 * dvirginica
—0.48 * x * dyorsicolor
—0.57 % x * dyirginica

46



DR Z R ET
LB T #j 2
y=—0574+080%x+1.44 % dyorcivoior + 2.02
®Species = DEE
/9\\E_§§&Lidver5icolor% :E)O%_: é_’. % 45
y = —0.57 + 0.80x
4.0
®Species = versicolor D& = £,
T 9.07
y=—0.57 + 0.80 % x + 1.44 — 0.48  x = 0.87 + 0.31x s
2_3.0
®Species = DEE n
y = —0.57 + 0.80 * x = 1.45 + 0.23x 2:5
2.0

— 048 *x * dyorcicolor — 0.57 * x *

JLTTRIZT B

Sepal.Length

Species
setosa
=8= vyersicolor

== virginica
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RO ZIRETT )L CRIERT S

y=-—057+080*x+1.44*d,.rcicoi0r + 2.02 * — 048 xx * dyorcicoior — 0.57 * x *

OXEIER  HEHERDEEDKREEIN, MOERDKETENT S
v'Speciesic k> THYIF - EE (XDRE) HMNERDZIENREINTWVWS

« Species = setosa D& &

y =-0.57+ + 14404+ 2.02x0—-048*xx*0—057xx%0
= —0.57 + * X

« Species = versicolor D& &=
y=—0574+0.80+x+144%1+202+0—-0.48*x+1—057*x*0
= 0.87+0.31 x

« Species = virginica D& &
y =—=0.57 + + 144042021 —048*x %0 —
= 1.45 . x

48
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@ T )l %car:Anova()BEEICE L T

Anova(me

Anova Table (Type II tests)

Response: Sepal.Width

Sum Sq Df F value Pr(>F)
Sepal.Length 4.7689 1 64.299 3.368e-13 ***
Species 15.7225 2 105.995 < 2.2e-16 ***
Sepal.Length:Species 1.5132 2 10.201 7.190e-05 ***
Residuals 10.6800 144
Signif. codes: @ ‘***’ @.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 * ’ 1

ANEANERN

Sepal.Length® EEENER (A1, 144)
SpeciesODEMEMNEER (A2, 144) = 105.995, p< .001)
XHERMNER (A2, 144) = 10.201, p<.001)

" H+ENE

= 64.299, p<.001)

Sepal.Width
N w0 ~ ~
q1 (6} o (€}

N
o

@
o

Species
setosa

5 / == versicolor
oo " .

' virginica

Sepal.Length
49
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W TETI)ILTHZEL

emultcomp/Vy o —I Dglht()BE T EL
VI T — I ME D BT AIAH
library(multcomp)

O S>EEocETIL "m2) ZE>THEKD

m2

Call:
Im(formula = Sepal.Length ~ Species, data = iris)

vV IREZH : iris$Sepal.Length
v SRR iris$Species (37K#E)

vAnova() BB CFREZEME U I-iER, SpeciesDMENEBRIE -/
(F(2, 147) = 119.26, p< .001) 52



O 3I/KEEL & ATREMR 7

vmultcomp:glht() : TukeyD AE T D D—XF L

m2_mp <- glht(mZ2, linfct = mcp(Species

« E—5|¥: fittedA TV b (EFIL)

"Tukey"))

« 5|8 linfct = mep(multiple comparison)BE# T, B UWEHEFEEIETE

summary(mZ_mpb

Simultaneous Tests for General Linear Hypotheses

Multiple Comparisons of Means: Tukey Contrasts

Fit: Llm(formula = Sepal.Length ~ Species, data = 1iris)

Linear Hypotheses:
Estimate Std. Error t value Pr(>Itl)

versicolor - setosa == 0.930 0.103 9.033 <le-08 ***
virginica - setosa == 0 1.582 0.103 15.366 <le-08 ***
virginica - versicolor == 0.652 0.103 6.333 <le-08 ***

Signif. codes: @ ‘***’ 0.001 ‘**’ 0.01 ‘*’> 0.05 ‘.’ 0.1 ¢’ 1
(Adjusted p values reported -- single-step method)

Species
. setosa

. versicolor
. virginica

Mean

1 1 Ll
setosa versicolor virginica

Species



BREETETILTHEZELERML 2L
®cmmeans/\w 7 —J Demmeans()BE#TH TE S

library(emmeans)
\Y 7 —_— - \: A\Y )-L!
vemmeans() BE#cfittedA 7V 7 M =T A
o e p— A2 . . - M2
vE _5|#specs = pairwise ~ kB U7z WE# .
emmeans(m2, specs = pairwise ~ Species)
Species
$emmeans 4 B o
Species emmean SE df lower.CL upper.CL = B versicotor
setosa 5.01 0.0728 147 4.86 5.15 . virginica
versicolor 5.94 0.0728 147 5.79 6.08
virginica 6.59 0.0728 147 6.44 6.73 2-
Confidence level used: 0.95
$contrasts ol
contrast estimate SE df t.ratio p.value setosa versicolor virginica
setosa - versicolor -0.930 0.103 147 -9.033 <.0001 Species

setosa - virginica -1.582 0.103 147 -15.366 <.0001
versicolor - virginica -0.652 0.103 147 -6.333 <.0001

P value adjustment: tukey method for comparing a family of 3 estimates 54



0 DIZFEIXET I E{FEDLYT, pairwisettest()BEETHTES

v I5—57L—L%$5% T WEEH BAZEHZIETE
vPEDMEIEAE% p.adjustmethod = “holm” & U THolmik % @& e

pairwise.t.test(iris$Sepal.Length, iris$Species, p.adjust.method = "holmr)

Pairwise comparisons using t tests with pooled SD
data: 1iris$Sepal.Length and iris$Species
setosa versicolor
versicolor 1.8e-15 -

virginica < 2e-16 2.8e-09

P value adjustment method: holm
55
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OiET ET /UL, REMRIVARE CHERFHEEZREL TWD

allji

VIRTE smHYEE
- YR - BZEDEEEZH &I,
A TRIETESD (y =8y + B1x)
« SMAZHDEIAEINIEL
FHIED —EICRE S

v ERERIATE
s THEMATOERAEDIISDEA
« THHEDEHIRE > TH,
BAEMGEHEIRE TE R0
c RN EBAWTREINS

Petal.Width

2 4 8
Petal.Length



HAEINERS I SB5ND ERE
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2ETI)L)

v EERRHVIBIE 2-
« HAHEIF EARDMICHES
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Petal.Width
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J_:%Jbﬁ{b?} 2 _E j\\)l/
OERANICERSEEIRE ULKETETIL
‘ Y~Normal(u, a)‘ﬁﬁg’ﬁﬁ?ﬁ

‘H=ﬁo+ﬁ1x+ﬁzd+"" 2
TR Tl F

v T~ RHERRIGRE
v =) BRERIBE

- Y EANE

e u IERDIHDIT - FHIME

« 0 IERRDHDOEERE - 2. .

° ,80 : tI”:ll_ 0- )

« B[R E L EE ' y 6
Petal.Length 59

Petal.Width
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J_:%Jbﬁ{b?} + _\\)l/
OEERAHICIER DT EIRE LU HETTETIL
‘ Y~Normal(u, 0)‘1'1&3?3%?5

‘H=,Bo+ﬁ1x+ﬁzd+"" 2
TR Tl F

Petal.Width

OEHIEN ER DTN SB/END ERE
« IFRDMDEZEREF—TEEIRTE

4 6
Petal.Length 60



J_:%Jbﬁ{b?} 2 + 7\\) l/ @ BXE@
4

ER D EBETERWNT — 0
VERDBWAD Y NT—F .

< B 90 THNRIc DK 3
- SEANEISFEE DB 10-
« DT EEAIERN

_ | |
VvIEBOHBZ OV NT—H

« B 34> b R10EFTHRD L S [EH
« EHNEIF LEFRD B BIEE DEE

o FRR - TERISGEWE E, DRI EGIERHR

hov bT—42LETII,

IER D EIRET 5 T & EREY]

6 1 2 5 4 5 6 7 6 8§10
N




